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Moé‘tlTest ‘ SOLUTION

P—

1. D) (3,24, 4)=3x4=12%x2=24
(D) G 24, 4) 0.©F L yoer 1t

4,72,9)=4%x9=36x2=172 1+ +1 3 +3 13
2. B)12-8+12x9+3=9 1‘> ﬁ IHJ >‘< 1‘\4? % s‘
12-8+12x9+3=9 +3 +2 +3 +2 42 42
8
12— =x943=9 1. (B) -+ <
12 o
12-6+3=9 A
15-6=9 5+5+2+2=14
9=9
3. (A)Bl, ﬁ 1"6, 3”5 15|3 12. (C) bebabb\bebabb\bcbabb.
x241 <242 =243 x2+4  x2+5 cbbcb.
4. B 13. (A) Uncle is a part of Relative (Uncle may be
> |® Rich).

6. (B) A=5 CandAvalue
B=3 7-5=4
C=7 2 value =250 14. (B

5. (A) Advocate work to Justice
Same way mediator work to Agreement.

Option (B) figure look like when open it.
153.AAVICTORY

Only II conclusion follow. CIVSYRO
8. (D)3,4,1,52

Market, Vegebtables, Buying, Cook, Food >’<71‘

9. (A) 254 217 ARTHROT
25 21 16. (B) Given perfect mirror image given figure is.
— # Notdivisilde —=3 _ ava 5 _ _
1 7 17. (A) (9, 35, 16) = 3 + (5 = (3 + 4)x5 = 35
126 189 (36, 55, 25) = (6)° + (5)° = (6+5)x5 = 55
12 18 18. (A) N N
—==2 —=2 (A) F——B D

E+
6 ? | ]
G A C H
'H' is nephew of 'F'

1gic : I Two digit divided by ITI" digit.

H.O :- F-75, Manglam City, Kalwar Road, Jhotwara, Jaipur (Raj.), Mob. : 9602514332  [110]



| Reasoning/aavifem | [ By Deepak Tirthyani Sir |

19. B) 36:84::7:7 25. (A) Peanut, other three options, crops fortile
36=12x3 above the earth and Peanut is under earth crop.
84 =12 x7 26. (B) 4,10, 27, 140, ?
Same as, 4(2)+2=10
27 : 63 10(3)-3=27
27=9x%3 27(5)+5=140
63=9x7 The next number would be
(logic I* term multiply 3 and II™ term multiply 7) 140(7)-7=980-7 = 973
20. (D) CE GI DF HIJ 2, 3, 5 are successive prime numbers.
-2 ‘+2‘72’+2’ -2 ‘+2‘72‘+2‘ So, by following the above pattern.
GE K BHF L 27. (D) Carpet is odd
21. (B)

other three are same category word.
28.(A) MASTER GOVIND
(2| <2|6e2| <2 <22 W]k |2

8402536 14 225 2281288
The given figure implicit in option B. BACKSPACE

22.(A) : <2 | 12 ’xQ’xz ‘xz x2 12’ x2| 5
# 41 62238321 625
logic = (Vovel)?and (consonent) x 2
29. (B) abdbacblabdbacb\abdbacb\
dchac

x2 x2

Figure (after each two step line are increased)

23. (A) Book : Encyclopedia 30.© p g RM UTATTI ON
Encylopeadia is a part of book 2l 3l 9| Al 5| 3L7 3L3J‘7L
Same as . I BKFRMXM
Python is a part of Reptile PUBLI CSECTOR
24. (D) DIG=4+9+7=20+5=25 Y I e
CUT=3+21+20=44+5=49
I RUEFYV VvV M
Same as logic (consonant —7, Vowel —3)

KICK =11 +9+ 3 + 11 = 34+5=39
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1. (A)15-2+6x10+5=25
Put sign option (A)
15-2+6x10+5=25

6x10
5
13+12=25
25=125

15-2+ =25

e
<
Pl
<
pa

3. (B)cbadbc|cbadbec|cbadbc
acdcb

4. (O

R==Q
5. OSUNDAY

DNUAYS
Similarly

MOTHER

SOLUTION

10.

11.

12.

13.

14.

O < —=

vy 4w
® P 3
s v et
-1 -1
® ! VHU KXJW
1 1
-1 +10
MZLY GESO
[
1 12

(B) The watch gains 5 seconds in 3 minutes =
100 seconds in 1 hour.
From 8 AM to 10 PM on the same day, time
passed is 14 hours.
In 14 hours, the watch would have gained 1400
seconds or 23 minutes 20 seconds.So, when the
correct time is 10 PM, the watch would show
10 : 23 : 20 PM
(D) 9, 15, 27 sameas 12, 20, 36

[ — LIl

<23 x23 <24 <24

o@D

1 2 3 1 2 3
NN N

OMY ¥y 0¥ &)
PN PN
PO X T WL

(A) The pattern is:

x5

TN

DIN: TYD
4 9 14 0 25 4
L L
Similarly,

x5

EJ O YDI

+5 +5 5 +
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15.

16.

17.

18.

19.
20.
21.

22.
23.
24.

25.

(B) 54 x 6 -7 11378 +2=19
54+-6x7+8-2
9xT7+8-2
63+6=69
(A)29:13::37:2
13x2=26+3=29
17 x2=34+3=37
O
56
(©) South Korean : Rupiya
South Korean Currency is Won.
(A) Smile : Ecstasy
(D) More than 44
(B) FLOWER = 14
Total letter =6, (6 + 1) x 2 =14
DISTASTE=18
Total letter =8, (8 + 1) x 2 =18
Same as BUREAUCRAT =?
Total letter = 10, (10 + 1) x 2 =122
(B) Hindrance/sIa4mM
(©)5,3,2,6,1,4
(D) Sumit reached the place 20 minutes before
8.50 hrs, i.e., at 8.30 hrs
Clearly, the man who was 40 minutes late would
reach the place at 9.00 hrs.
So, the scheduled time of he meeting was 40
minutes before 9.00 hrs, i.c., 8.20hrs
Earth

©)

Temple

Forest

26.

27.

28.

29.

(A) Here, numbers are related as

Three times of Subtraction of first and third num-
ber is the second number.

As, (19,45, 4) > (19-4=15) and 15 x3 =45
And, only option (a) follows this

(21,24, 13) > (21 -13=8) and 8 x3 =24

™[0, 0
oo

(C) As, B. TECH is an undergraduate course and

IT and Mechanical are its two branches
So, the Venn diagram which shows the given
relation is:

"R

Only I and I1I follow

30. (A) Here, letters are related as

oM E

25

Similarly,

™y

-1 +1

(=15 % [=]

Telegram Facebook

(o)
3 =]

Instagram

[¢

[=] 35 =]
: =1
YouTube Twitter
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I—

1. (D) The water image is the inverted image obtained
by turning the object upside down. The top and
bottom part of the image will be changed, while
left and right hand side image of the image re-
mains the same.

e
T
H 8] e ‘

1

3. (D) If figure, as shown in the alternatives D), is

2.(B)

placed in the place of missing portion of the
original figure, original is completed and looks
like the figure shown below.

4. (C) The paper is unfolded in two steps that are
shown below.
Step-1

5. (D) Except 544, all the three are divisible by 13.
6. (B) The pattern of series is- bacdbe
The complete series is — bacdbe/bacdbe/bacdbe

7. (D) A

SOLUTION

The squares are : EFGH, EIML, IFIM, MJGK,
LMKH, ABCD, IJKL
There are seven squares.
8. (D) When we write down the symbols in the clock-
wise direction,
From the 1st cube: $ % #
From the 2nd cube: $ @ =
(@ will be opposite to %.
9. (B)

N, P live Top and ground floor

10. (B) Here the larger rectangle represents the
rural people, the circle represents the corrupt
people and the smaller rectangle represents the
employees.

Here, the desired area should only fall within
the overlapping part of the larger and smaller
rectangles.

Thus, 7 represents the rural workers who are not
corrupt.

11. (A) 2+ 2+ (2/2) = 2+2+1 =5
3+43+@3/3)=3+3+1=7
3+6+@®6/3)=3+6+2=11
5425+ (25/5)=5+25+5=35

12. (C) Given expression is-
50+10+25%x5-3
After interchanging-
50-10+25+5x3
Solve now,
40+5%3
= 40+15=55
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13. (B) As,
45=4*5=20
Similarly,
72=7*2=14
14. (D) After carefully observing the figures given
in the question, it is very clear that the answer
figure(d) will be the next figure.
O;
O

O

Logic- number of shapes is increasing by +1. It

begins to fill from the top left corner, square
and circle alternately.
15. (B) It's logic:

4 6 -4 -6 -4
Z WP .L—F B

16. (B) Women can be officers or stenographers or
both. Therefore, the best representation is-

Stenographer

17. (D) Logic is:

Numerator’-2=denominator

As,
62-2=34
82-2=62
Similarly,
112-2=119
132-2=167
8.0 2, & o s E

F1H2 H3 +4 +5 H6 +
Vo F | f

W u T T Y L
Similarly,
S E R v 1 C E
Fltz 4‘[3 +H4 #5 +6 +4‘7
A
T G U F N 1 L

19. (C) Reasoning: Number of letters in the word *
2+1
As,
REASON=6*2+1=13
And
CHAIR=5*2+1=11
Similarly,
EXAMINATION=11*2+1=23
20. (D) 80, 68, 62, 56, 29
Ii12 Il — | — I - 718I
I | I | |
RA 1 x1% X2
21. (A) Chicken

22. (B) 1234567 8910
ZPEEXFLCRQ
Ll
P E F C
+3l+3 +3 +3| +3

H I F T
Same as
1 234567 8 910
ATEXXDI BVO
2 4’1 6 8 10
Ll
+3| +31 +3 +3| +3

23. (C) Thereasoningis 1st term™* 5= 2" term,
I* term * 9 = 3" term
Only the set (7, 35, 56) does not follow the above
logic.
24. (B) 1)Examine
2) Excited
5) Execute
Correct order is-1, 4, 2, 3, 5

+2 +4

25. (B) optionA.E 5 G
+2 +2

Option B. 1 > K
e

4) Example
3) Exclaim

5 K

OptionC.B ——= D
+2
OptionD. DD ———=>F
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26. (C)

E F
9 triangles in all; ABD, ABC, ACD, DFC, BCF,
BDF ,BEF, BEG and EGF.

27. (A) After carefully observing the figures given
in the question, it is very clear that the answer
figure(c) is embedded in question figure. It is
shown as given below:

28. (A) It was Monday on 1 January 2018.
2018 has 365 days.
So, odd number of days=365/7=1
So, 31 December 2018 was on Monday.

29.(B) 90, 450, 810 7, 35, 56
s > E 2
| x5 | x5
=<0 x8

Option (B) Not follow the pattern
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30. (C) . M
Eggs
All follow.
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T —
1. (A) Logic is-

+2 +4 +6 +8
G—>1 — M > 5 > A

+2 +4 +65 +8
p———F —/—* ] > P > X

2. (B) oUNINO2A3A

3. (A) Only II follows.

4. (B) Both A and R are true but R is not the correct
explanation of A.

5. (D) According to the given information;

Ramu's father

/TN

Ramu's = Ramu— Ramu’s
sister sister

Clearly, Ramu doesn’t have any brother.

6. (C)

letters P A w Y

meaning » + 2 -

After changing the symbols,
13x3+11-26x6+13+19
(applying BODMAS)
13x3+11-2x6+19
39+11-12+19

50 - 12+ 19
69 — 12
57

7. (D)

Only I follow.

SOLUTION

8.(A) 13 40 121
L |
x3+1 x3+1

Same as
5 16 49
LI
x3+1 x3+1

9. (D) Shila is the daughter in law of Riya's mother
in law that means mother in law of Shila and Riya
is same.

This implies Riya and Shila are sisters in law.

Mother,
mother mother
in-law, in-law

Riya(-)==Riya's(+) — Younger == Shila(-)
husband brother(+)

So, Riya is the sister-in-law of Shila.
100 B) OU TLINE

51329 46
Similarly

TOOLITTLE
LU
Logic : put common letter code value.
11. (A) Let X be the starting point, from where
Amitabh started his journey.
The path traverse by Amitabh is as follows:

15 m
S

20 m

b

15 m
12 m

D
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12.
13.

14.

15.

16.

17.

18.

Now, Amitabh is at position D.

Clearly, Required distance = 12 + 20 = 32m
Also, he is in South direction from X.

(D) Only I follow.

(B) The alphabets are coded as follow.

We will deduce the code for AHMEDABAD
from these two coding.

A|HIMIE|D|A|B|A|D
QTP lIjK[Q]|S[Q]lK

(D) From positions 1 and 2,

1, 3, 2, 4 will be the side face of 5.

Therefore, 6 will be the opposite of the face 5.

D) 23, 24, 50, 153.[616]3085
[ | |

x1+1 x2+2 x343

x4+4 x5+5

(A) Logic : Middle term is completely divisible
by the sum of first and last term.

As,

24 is completely divisible by (5+7=12).
Similarly,

80 is completely divisible by (8+12=20).

(C) “Brussels” is the capital of “Belgium” in the
same way “Canberra” is the capital of “Australia”.
(B) In this question we shows that first number
is multiply by 3 and second number is divide by
2 and alternatively repeated continue

12x3 = 36

362 = 18
183 = 54
542 =27
27%x3 =7
?7=281

19.

() 95:105::89:7
100 —5:100+ 5 :: 100 — 11 : 100 + 11
95:105 :: 89 : 111.

20. (A) After observing the given diagram carefully,

21.

22.

23.

24.

25.

15 will be opposite to 74.

25 will be opposite to 20.

55 will be opposite to 99.

Therefore, figure given in option A cannot be made
based on the unfolded cube in the question figure.
(C) The second number is seven times the first
number except in case of option (¢)

49 x 7 =343

21 x7 =147

25 x7=175

But, 16 x 6 = 96

(A) FPK = F is 6" alphabet in English. P is
16" alphabet. K is (6+16)/2=11" alphabet.
ISN= T is 9" alphabet in English. S is
19% alphabet. N is (9+19)/2=14" alphabet.
MY S= Same formula applied for MYS

HXN= H is 8" alphabet in English. X is
24% alphabet. N is not (8+24)/2=16" alphabet,
it’s 14" alphabet.

So, HXN is different from others three.

©
D) Symbol |+ |- x|+
Meaning | x| +| +| —

Given equation: 72 x 9 — 14 +2

On changing the symbols: 72 9 + 14 x 2

On applying BODMAS, we get,

8+28=36

C) +2)x2-10=16
G-2)x2+10=16
3x2+10=16
6+10=16
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26. (A) Let us first write down the alphabets and R—>E
their corresponding positions in the English N—>C
alphabet. LANTERN will be written as GFCDBEC.

Move forward three steps each of the first, third 29. ()
and fifth characters of the word to get the
corresponding characters of the code. While
three steps backward each of the second, fourth
and sixth characters i.¢.

HEATER will be coded as KBDQHO. Similarly,
CORNER will be coded as FLUKHO.
27. (D) After arranging the words,
a),e), d), b), c)
28. (C) Code of the given letters are as follows:
C E NT R A L

It is clear from the above diagram, that S is the

A B CDEFG wife of T.

and

PLANETARIUM 30. (D) 10 12 15
HGFCBDFETITJK %_J
Using the above letter codes we get, +2 +3
L>G

A—>F 68 70 73
N->C H,_H,_J
T—D +2 +3
E—>B

T A3 Reasoning%ﬁh‘(ﬁ ‘i:ﬁ‘Topic?:lﬁ STTETL
¥ 3T W 9o ® WHeA Hehd & a1 oft faereRet Free

= Steps = WA -

1. Youtube W SM
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Clock by Deepak Sir
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D—

(A)

Romeos
Cheaters

Only II follow.
(B) Triangle shape moves 2 places clock-wise
and 3 places anti-clock wise direction alternately
and rectangle shape moves 3 places in clock
wise direction.

AT R
B I SN P I 1

(C) If we divide the sequence in 2 parts of 6
alphabets each:

1) S RTR

2)STTS

It appeared to be same, therefore the missing
alphabets are: TSRR

Hence, the correct option is C and the
sequence is STRTRSSTRTRS

®

The triangles formed in the above figure —
ADB, ADG, ABG, AEG AEB, ABJ, BDJ, BED,
GED, BEF, BEC, BFC, BEJ, BCJ, CFJ, EFJ,
CEJ, CEL EJI, GEI, GEH, HEI and BGH.

The number of triangles is 23.

(B)

P R T
Similarly,
D F H

+9 +9 +9

ol

M O Q

Thus DFH is related to MOQ.

(C) In the figure, the sheet of paper is first
folded along the vertical line of symmetry so
that right half of the sheet overlaps the left
half and then it is folded further to a quarter
and then punched. When it opens, it looks like

B) 4. 10, 27,140[973
I I Il

X242 x3-3 x5+5 x7-7

(A)
As,
PEAR =16, 5, 1, 18 = 1+6, 5, 1, 1+8=7519
and

TOIL = 20, 15, 9, 12 = 2+0, 145, 9,
1+2=2693

Similarly

DOCTOR = 4, 15, 3, 20, 15, 18 = 4, 1+5, 3,
240, 145, 1+8=463269
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9.

10.

11.

12.

©)

B D

There are total 18 squares in all; ABC, AIB,
AIC, CIH, BIH, BCH, BCE, HCE, BDH, EDH,
BDE, HEG, DHG, DEF, DCE, BDC, ACH,
ABH

(D) Logic is-

3x9=27
27 x 9 =243

243 x 9 = 2187
2187 x 9 = 19683
(D) As.

81: 63

B+ x@B“1)=63
Similarly,

74 : 33
T+HxT“4=33
D)

(=

| e
|35

After carefully observing the figures given in
the question, it is very clear that the answer
figure(D) will be the next figure.

Pilots Mothers

Women

Hence, the correct answer is option D.

13.

14.

15.

16.

17.

18.

19.

(C) All mothers are Women. Both can be
pilots.

So, the best representation is-

(C) As it is punched in a book-folding manner
and then again it gets punched. So, when we
open it up there will be figure as shown in
option(c).

(C) Except 6394, all follow the logic-
Product of first two digits is equal to the
product of last two digits.

for example:

3864=3X8=6X14

(A) As per the given information,

X and Y are brothers and A is brother of X and
both A and B are couples that means B is female
and married to A. So, Y is brother in-law of B.

(D)

¢

(D) Moving in the clockwise direction,
Cube1-356

Cube2-342

Clearly, 1, is the opposite of 3.

(D) Jpg and png are two different format of
image/photo.

Here the best representation is-
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20. (C) 25. (B)
X W A
B A 2 3 j+2
V T C=
l» 3 i—4 +3
S P  F=
C I 4 3 +4
-3 -6 +5
21. (D) The mirror image for the given figure is, ] E O—
@ 26. (D) COSMET ( S letter is not given the word)
27. B (V1940
A B 28. D) 4+ 32422 +22=16+9+4+4=33
424+ 32+22+52=16+9+4+25=54
D46+ +42=4+36+25+16=81
29. (B)
22. (A) Trucks and bikes are subsets of Father
automobile. ()
23. (A)15+24+3-6=17 / \
17 =17 Husband | Father Man
(firam) (e )
24. (A)
E Tallest
D Brother-in-law
A (FR)
A€<—>B
¥ 30. (D)89 55 57 04
C Smallest

L I K E

EinEEE EafEE
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